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Part 1: Vertex from Standard Form Quadratic

Remember that parabolas are symmetrical about the axis of symmetry which is a vertical line that passes
through the vertex. Because of this symmetry property, you can find the x-coordinate of the vertex by
averaging the x-intercepts.

From quadratic formula we know that the x-intercepts of a standard form quadratic are

—b+Vb2—4ac —b—Vb2—4ac
Xx=——pp andx=——"p—

Therefore, the x-coordinate of the vertex is:

U= vertex — (”/Ejﬁ_‘ L/)fumc + @>
(=48 /O_Lq

Conclusion:

From the standard form equation of a quadratic, y = ax? + bx + ¢, you can determine the x-coordinate of
the vertex using the formula:

fox = -b
x — vertex = g
Example 1: Find the vertex of the following quadratics
a)y =x?—6x+11 b)y=-3x2+2x-1
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Part 2: Putting it all together

Example 2: For the quadraticy = —5x2 + 8x — 3

a) Find the x-intercepts

b) Find the axis of symmetry

c) Find the vertex

d) Sketch the graph labelling key points
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Example 3: For the quadratic y = 2x? — 8x + 11
a) Find the x-intercepts
b) Find the axis of symmetry

c) Find the vertex
d) Sketch the graph labelling key points
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C) X-Uerdex =
Y-vetex = 2 *=B( ) +1]
=3
(3,3)


























Example 4: For the quadratic y = x? — 10x + 25

a) Find the x-intercepts

b) Find the axis of symmetry

c) Find the vertex

d) Sketch the graph labelling key points
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K5 =0
Py C) X-verdex = 5
U-Uestex = (5)%-10(5) £35
=0
Note: when & quad raic anlly bhas 1 X-intercept, C‘/))C))
e verdex must be on the yoaxi<










































